
Subject: Please explain this if you can:  (short)
Posted by Russ Welti on Fri, 02 Dec 1994 22:28:44 GMT
View Forum Message <> Reply to Message

Try this:

IDL> a=bytarr(20)
IDL> a(3)=244
IDL> print,min(a)
   0
IDL> print,max(a)
 244
IDL> print,abs(max(a)-min(a))
  12
IDL> print,max(a)-min(a)
 244

What gives?
                                                    \
Russ Welti                                         /-\
                                                  (c-g)                     
University of Washington                           \-/                      
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(206) 685-3840  voice                             (a-t)                     
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